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E(2) _
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d=[1-1.368 0.368];
r=rlocus(n,d, k) ;

plot (real(r), imag(r), 'x")
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Root Locus
L5 T T T | — T
| | |
) i i 7 I B I N Iy
K=2.39 | | | | |
0'5__1__X|__|_—f_-|__|__| N
\__ DXL %
Unit circle 0——-|—e§—|——|——[—-|__|__|_>)<e_
0368\ 2
}\0,196

Kl 4-18 ] 4-8 LI

5 z i b, AR5 LA R (K AZ RO R G I S REE A5
KT ARG FRE s, — Iy T ] DUE R W R GEARPIE,  $RH e PRL R A RO, 51—
J5 A AT BN HIRGE PR, SR ARSI IR A G K, PRI K ERARGRAE R, SRl st
R I (R AR 3 o
RTAA, KRR T R AT LUK RGO 2 K=2.39, BLINRFAE SRR 2° - 0.4882-1=0,
Jit LA 5 ki
z=0.2441j0.970=1££75.8°=1£L%1.32rad =1Lt 0T, ®=1.32md/s

A >

41 s VBN, AR R s, =126, sy, =-12j45, RFHE o, =8Hz, K
15 z V1] AH AR 557 (A
4.2 CEIPAIIR B R G NRHE R R
D(z) =z —1.001z% +0.33562 +0.00535 = 0
T HME IE 57 W9 W% R 0 AT -
43 WEHARSZWE 4-19 s, REAMAT =1s . Hy(s) W EFMIRFeS, 1M
K
= 021D
TR
(1) Bk =5MF, H7E z B w4 REEHIERE
(2) Wl RERE N K TS
(3) RRGMIRESRE R



FA4E NIRRT 77

0 ety L @
+

v

A 4

H() (S)

Gy (5)

K 4-19 43K

4.4 CHRIRZGWIE 4-20 P, BiEmi e RERUE M K ETEH.

Y(s)
R(s) T k i X(s) =
+ s(s+1) ”

K 420 /4.4

4.5 OO0 EEE RGN ARRRE 2 T

(1) W(z)=z*-1.52+05

(2) W(z)=3z"+22—z2—2z+1

(3) W(z)=2>-232"+1.72z-0.4

(4) W(z)=z*"-142>+0.42" +0.82+0.002
T ARG S M 4 4 T PR R S A
4.6 TR 158 ) 3R G0 TT A% 8 pR A

222 -3z+1
3z 4422 +72-1

T IR — BHECAE A0 R R e v .

47 PEHIRGWE 421 iR, T=02s, K=1, REMNANIKGGS, KAGHE kD),
FEHE p(0)o

G(z)=

RO) | ) E6) & Q)
s+1
1-¢ ™ /
s T

K 4-21 Bia47K
48 B R AL I 422 TR, RREEMIT =025 MIAEE () =1+t+2L2 ,
t

RZRGFZIRZE
49 CHIBEBIEHARSGWME 4-23 Fix, T=1s, R HIRSGRPER, kIR A .
4.10 FHLER NI RS g5 f &l 4-24 Fios.



78 TSP B R

) LEO) [ en 1000.55+1) | YO
+ S Sz

Kl 4-22 48K

T T
0] E(®) l—o s k Y(2)
+ K— s s(s+1)

o
A

K 4-23 49K

s DIFBORAS AR fEshde B
90 2 AL ek 1 N Ea‘ 200 O 1 93 o
A ——> D@ T RER > K > 05551 o >
& KA
0.07 |«

K 4-24 {410 &
WT=01s, D(z)=1. i&K:
(1) PR RGHFE TR
(2) HBIEZ WA S R iAo I K AR AT
(3) RGmAFENS, z FIHA w PR FETE MR E .
(4) RGNGARLEWS, z A w i R4 5 i .
(5) R VHEHLOTE, ik FREE R



